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Question Numbers : (1 to 20)



Data Sufficiency (¢&oé aicegad)

Note: In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and IT. You have to decide whether the data given in the statement is
sufficient to answer the questions. using the data make an appropriate choice from (1) to (4)
as per the following guidelines:

a)  Mark choice (1) if the statement I alone is sufficient to answer the question

b)  Mark choice (2) if the statement I alone is sufficient to answer the question

¢)  Matk choice (3) if the statements [ and II together are sufficient to answer the
question but neither statement alone is sufficient.

d)  Matk choice (4) if the statements I and II together are not sufficient to answer the
question and additional data is required.
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Sub questions

Question Number : 1 Question Id : 8119673167 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the interest after three years?
S DodBYTPL ST St odoth ?

The principle amount 1s Rs. 20,000.
e0en 6. 20,000.
11. The rate of interest 1s 7.5%
oSG Otw 7.5%
Options :
R
2. % 2
3. % .
a.v 4

Question Number : 2 Question Id : 8119673168 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
On which day of the week did Vasu leave for Singapore?
GFotS ) O P Refigpd omy?
. Vasudid not leave for Smgapore during the weekend.
P00t P cB\Jof'S:Qj"(S ﬁf@@

I Vasu's sister left for Singapore on Saturday 3 days after Vasu left for Singapore.
T elPO QS 3 Gee) 03 P 0§ PO Qa0
Options :

1.*1



Question Number : 3 Question Id : 8119673169 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
How many students m a class play football?
2§ OB 0ot 500 Dgtoen YEerd wherd?
I Only boys play football.
SR WD) S YORPO WL,
II. There are forty boys and tharty girls m the class.
g TIRNSARIALVAIVIVAVC OWEMVAATMAEC TSN v Yol

Options:

Question Number : 4 Question Id : 8119673170 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
What 1s the area of the sector POQ
Sﬁa@ Bolead POQ g%"ﬂﬁgo oJoth ?
L The diameter of the circle 1s twice to the radius.
SYL Pz TR TPgPERY) 0o

IL The sector makes an angle 60° at the centre.’
ég@_.v? Woleo §OQ -:5@;5 60° 5@0&

0
Q
p
Options :
1. % !
2
2. %
3. % 7
av 4

Question Number : 5 Question Id : 8119673171 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the average daily wage of A, B and C?
A, B $H0ak € 038, 5w Gae0 o adots?
I Bssalaryis half of the salary of (A+C).
B 01.00% 8% (A{) 3589085 %o,
. AandB together earn Rs. 80 more than C and C earns Rs. 600.
A 5605 B 590 C $0€3 8r. 80 807 Doty sh0a C &r. 600 doapiipesd.

Options :

1.*1

Question Number : 6 Question Id : 8119673172 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the rate of interest percent per annum?

&oé@hﬁ"@g c:i(;ﬁ O o adoth?

I: Simple mterest earned in 3 years 1s Rs. X.
SUPE NodBYTPOS Dol Wil oG X Srarahen

II: The amount increases by 80% in 5 years
GOIAY “@o&ﬁ@bﬁ“@ﬁﬁe ﬁ)\)'?_fgo 80% B0t 0b

Options:

1.*1



Question Number : 7 Question Id : 8119673173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What 1s the sum of the natural numbers a and b?
0802 Doy a, b © 3o oot ?
. b=17
I L.C.M. {a,b} =34

Options:

Question Number : 8 Question Id : 8119673174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s Nitin's rank from the top 1n a class of forty students?
S’Jf_}g@ VA @E“SQDE.DQJ_’ (lelelaTo) 2 oW € U“gog odoth?
I.  There are ten students between Nitin and Deepak.
B, ODE &g HA Sl Jweglien &ey K.
II.  Deepak is 20 from the top.
QN5 2 o 2085 P

Options :

Question Number : 9 Question Id : 8119673175 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

On which day of the week was birthday of Sahil?

FOotS @ O BirS )
I Sahul celebrated his birthday the very next day on which Arun celebrated his
birthday.

©%06h &I QR0 8y, SV 0 Pard S ez anSome) &,

Il The sister of Sahil was born on the third day of the week and two days after Sahil
was born.
PO 050 8ol sircied 0 aodold 000 FaPS ) Totlo v Soeg

&icﬁ&o@a&.

Options :



ad

3. %

4 % 4

Question Number : 10 Question Id : 8119673176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the partners P and Q. What 1s the profit made by P?

P, Q © &rt5rg g0 € P FobdeS erado odoth?

I Q has mvested twice of that of P.
P 50€3 Q 0G0 a2 &TeC.

II. The profit made by Q 1s Rs. 50.000.
Q Fro&cS erado 85°.50.000.

Options :



Question Number : 11 Question Id : 8119673177 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f each pen 1s ether 15 rupees or 18 rupees, how many 15 rupees pens did Anjali buy?

w§, ), 15 raraen e 18 Grarafien oowd, @osd wk) 15 draraho by en

Sy 07
I Amali bought a total of § pens.
@030 o § Ay ) STy .
II.  Total value of pens Anjali bought was 135 rupees.
@00 §'), D) O 0o e 135 Sraralen.
Options :
R
2
2.v
3. % .
4 % 4

Question Number : 12 Question Id : 8119673178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the measure of the angle A in the AABC ?

AABC ¢ §'t0 A §°0¢9 0Jot ?

L L&l =120°
IL. A+ ZB=130°

Options:



ad

4 % 4

Question Number : 13 Question Id : 8119673179 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What 1s the Annual Salary of Mr Har1?
PO A% 08 o o)
I: The ratio of monthly salartes of Hart and Suresh1s 9: 7.
270 o008 08 © Jo PO &G 9: 7

II: The monthly salary of Hart 1s more than that of Suresh by Rs. 16000
{0 30 0 2o 0T PR §57), 16000 Eraraien 80y

Options:



Question Number : 14 Question Id : 8119673180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What 1s the code for ‘Comfort’ in the code language?
§G eHeS ‘Comfort” §°G ode0?
I: ‘pa ke W.” means °sit with comfort’.
‘pa ke W.” eo3re “sit with comfort’.

II: ‘ke da ra ja’ means ‘she sat with confidence’
‘ke da ra ja’ e@<rr ‘she sat with confidence’

Options:

1.531

Lad

a.v4

Question Number : 15 Question Id : 8119673181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
How is PRODUCT written in that code language?
§°G 295 PRODUCT & o) &0 TP Oo0?
I.  Inacertam code language, AIEEE is written as BIFFF.
a¥ 09 §'G we & AIEEE @ BIFFF r ovad.

II.  In acertain code language, GYPSY is written as FXORX
28 03 §G w0 & GYPSY Q FXORX e ood.



Options :

Question Number : 16 Question Id : 8119673182 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What 1s Gagan's age?
A SO0y ot
[ Gagan, Vimal and Kunal are all of the same age.
A0, 0, 70 suffodir a8 SaHi P,

II.  Total age of Vimal, Kunal and Anil 15 32 years and Amil is as old as Vimal and
Kunal together.

e300, 070 005 @O0 3o SAHD) 32 VoskNTP0 HE0K SIS
SAHR D500 00k HTHL SaHS Valeo.

Options:

4d

3.¢



Question Number : 17 Question Id : 8119673183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a.b.c.d are positive integers, what 1s the value of a?

a.b,c.d &0 &S HPoresTen oS a LS odots?

I: The average ofa.b.c1s 15
a.b.c © 2% 15

II: The average of b,c.d 1s 20
b,c.d & Jéw 20

Options :

fad

Question Number : 18 Question Id : 8119673184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A=B=C=D 00
La=28—(
B:B= 2B~

Options :

1.331

2.332

3.%*"3

4 % 4

Question Number : 19 Question Id : 8119673185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What will be the age of P after 5 years from now?
X080 ok 5 Vo900 BT P Gugy S0Hy oot ?
L P 1s 30 years younger than his father.
P, &9 B0 %063 30 DoSBY0PL) D) 7

II.  His father was 35 years old six years ago.
G DodTPL §80 @B Bofe Al S00Y 35 Dod\TPLD

Options :



Lad

Question Number : 20 Question Id : 8119673186 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
How is T related to K?
w =
T 3K §&5) Hotdotio Da0e ?
I. K has two sons; one of the sons 1s A.
K § 21658 $o5760en ey 60; 500800 2,580 A.
II.  The mother of T has only two sons — A and B.
T S&OS 986 Hodredoen SrGad &v®) 8 - A Ok B.

Options:

2% 4
Is Section Default? : null

Question Id : 8119673187 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (21 to 25)

Problem Solving Radiog P
Sequence and series )8 00N Fwew
0dd thing Out BT (D00

The following questions have something in common except one that is odd. Find odd thing
out from Question 21 to 25
& $old s ) 08 2.8 4 80y NN 28 PArF SON Goron. ©6) AOFOD (Do)

21 o) 25 0% B @) O VeIPEEo Hgok

Sub questions

Question Number : 21 Question Id : 8119673188 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find Odd thing from the following

éo@ are3es’ ?ﬂrﬁl@_ﬁrﬁ WP, BT dobe

Options :

. % 39

Question Number : 22 Question Id : 8119673189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find Odd thing from the following
Sobd IPE3ES” 8IS S TRy ST Sols

Options :

.« SAT

GET

2. %

3 x RAT

4« MAT

Question Number : 23 Question Id : 8119673190 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find Odd thing from the following

800 TPEIES" DSY S TR, ET S0

Options :

Tesla ¢
1.¢ ”

Infosys @S R
2. % -

Microsoft 208 o0
3. % = =

4% Apple Company 052 Soadd



Question Number : 24 Question Id : 8119673191 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find Odd thing from the following

éoirfh arC3es’ ?:Jr:j;tc?l_ir:) AVRY (T dobe

Options :

| « Revenue - &°000

- Profit Margin - &°%5°0 &55°00

Earnings per share - 2,87 20050 eswroirw
3. %

Market share - dﬁj"@&n‘f} TPETO
4.9

Question Number : 25 Question Id : 8119673192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find Odd thing from the following

éo&l re3es’ @ﬁl@_ﬁrﬁ GPR)), BT dole

Options :

. 29000

, % 9000

, . 25000



4 % 4000

Is Section Default? : null

Question Number : 26 Question Id : 8119673193 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Problem Solving SNVSIEVIATY
Sequence and series LNVENVESMINVSTo VW MOV
Odd thing Out QOFOSE (DO

Find Odd thing from the following
Sobd IPEIES” 8IS S TR ST Sols

Options:
Pluto - s’

1.4

Neptune -dQP
2. % S )

5 » Jupiter - 2 oedd

Saturn- Jo€)
4. %

Question Number : 27 Question Id : 8119673194 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving SRVSIEVAN

Sequence and series LINVESNVSVINVeTo MY ggaam
Odd thing Out Sk I SINTAT VIS TRV

Find Odd thing from the following
Sobd TPEIES” 8IS S TRy ST Sols

Options :
. Midfielder - oo 00

-
Ace - 0
2. ¢

Pass - aro
3. %

Assist- e9ed
4, % e

Question Number : 28 Question Id : 8119673195 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Problem Solving SRVSIIAN
Sequence and series LUINVENVSVINVeTo MY gaazf_u
Odd thing Out LROFOSE (000

Find Odd thing from the following
$obd TPEIES" 23 S TR ST Sols

Options :

. » Legislative Assembly-Lok Sabha - 3°0:50e3-&'S 083



- Governor-President - ¢58) 6-0°509e3

. CM-PM — Swax§ 008 -5 200

. Legislative council — Parliament - 3°0c5 e08© — aPgeidet)
4.9

Question Number : 29 Question Id : 8119673196 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Problem Solving SRVSIIAN
Sequence and series LUINVENVSVINVeTo MY gaazf_u
Odd thing Out LROFOSE (000

Find Odd thing from the following
$obd TPEIES" 23 S TR ST Sols

Options :

December &ao20d
1. %

October @$§°200
2. % =

. September 0200

N '.’ —
April 0O
4.+ hod



Question Number : 30 Question Id : 8119673197 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Problem Solving SADSIEvIAN
Sequence and series INVENVSMINVTo VW MOV
Odd thing Out QOFOIE (VO

Find Odd thing from the following
$obd TPEIES" 23 S TR ST Sols

Options :

~ Plateau o0zco

1. %

Star &0

2. %

Mountamn 038 NS
3, %

~ Forest e
4. %

Is Section Default? : null

Question Number : 31 Question Id : 8119673198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving ADIEAN
Sequence and seres OSSP 0050 g
Missing Number SENMEV S aRd)

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Ar: Sods '&D')KJ 08) WS aJr:)()ejg_ZDKJ NPT FERNB. & PP K:ot)
280 VSFTRoeS” a9 Q) s3POovdo.

Find the Missing Number
By s & ST ol
256, 128, 64, 32, 16,

Options :

1 = 10

> % 4

Question Number : 32 Question Id : 8119673199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving VRN
Sequence and series @SN 0050 g

Missing Number Gy oy [

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with surtable answer

AP: Sols QUJXJ 08) S @aaé@é AT BB, 89 PR fedow)

202000 NeSrerees” a9 O WPOodod.

Find the Missing Number
By oy ) STl
729,243, 81,217,
Options :

1_231:3

, % 12

3.0

4, ® I3

Question Number : 33 Question Id : 8119673200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving QaJ0Rg P
Sequence and series @SS 00 e
Missing Number SENMEN VS oldb

Note: The following question follows a definite pattern. Observe the same and fill m the
blank with suitable answer

APA; Sods QDDKJ 0) 28 @&aé@é AT 00, 8 APTD H0ow)
8800 VeSrEEoed” 8P @ sJPlouiobe.

Find the Missing Number
By oy & EDdols

0,12, 30,42

Options :

1.% 18

, % 20

24

3. %

28

Question Number : 34 Question Id : 8119673201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AV
Sequence and sertes @88 00 FEen
Missing Number Siys oy /er)

Note: The following question follows a defmite pattern. Observe the same and fill n the
blank with surtable answer

AP Sols QDJKJ 07) w5 aﬁ%é@é DT SFERV0A. & AP (feot)

2000 NrEEoes aF9 @ aPOoviol.

Find the Missmg LETTERS
By wETOD STl

ALBILCK,

Options :

LM

1. %

GH

3. % QR

DL

Question Number : 35 Question Id : 8119673202 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AAVATAN
Sequence and sertes SIMEMEIVAVOOWE ISV
Missing Number i) Roayy/ ALy

Note: The following question follows a definite pattern. Observe the same and fill in the
blank with suitable answer

Ard): Sotd Qﬁ)‘)é 03) WS @Dbé@é NPT B0, 88 Srardd Hadod)

28800 VFEEoed” aP9 @ )JPOoviol.

Find the Missing LETTERS
By 0ETuR SNl

A!E!Iﬂ_!—

Options :

v OU
,x UU
U,0

0,0

Question Number : 36 Question Id : 8119673203 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving QaddR)g aPeSed
Sequence and series O0ESPe 00K dEeLy)
Missing Number iy S Roayy /e

Note: The followimng question follows a definite pattern. Observe the same and fill m the
blank with suitable answer

AP: S0t 'QDJR) V) WS @Daé@é NPT FEWB. &8 AT HadDot)
28800 NSFERot” a9 & 2P0,

Find the Missing Number
B RoBg o) S(Tedols
492549, 169
Options :

w139

, x 127

3.3383

4 v 121

Question Number : 37 Question Id : 8119673204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AVIIRVIAN
Sequence and sertes @SR SHOCKY FEew
Missing Number SEANES AT SY

Note: The following question follows a definite pattern. Observe the same and fill i the
blank with suitable answer

AP: Sols ’arf)')é ©3) WS &Dbé@é NPT FE0A. € AP (1:Roc)

20800 NeSEreed” 979 Q) YPOouiob.

Find the Missing Number
B0 oy & EdTdole

173983, 28l

Options :
| = 165
> 162

;v 163

4 % 166

Question Number : 38 Question Id : 8119673205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving QaRg P
Sequence and series @S 00 Favew
Missing Number iy oayy/ren

Note: The following question follows a definite pattern. Observe the same and fill m the
blank with suitable answer

API: Sodd QDJQ 0) WS aJDQéQJK} NPT SPERV. 8 AP H0ow)

20900 a0t 8P @ wFOovdol.
Find the Missing LETTERS
By WETOD Sl

SCD, TEF, UGH, WKL

Options :
.« CMN
, % UJI

Lo VI

4 6 UT

Question Number : 39 Question Id : 8119673206 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AR
Sequence and sertes WENIVAVGOWE 7V
Missing Number SENMEVE TRV AV

Note: The following question follows a definite pattern. Observe the same and fill m the
blank with suitable answer

Ars: S0t QDJKJ ;;él 5 3,35)[)@@:6 DT 5“&3‘:’9}0&. 3 HPTa o)
20800 NaSRERees” 378 @ HPOovdos.

Find the Missing Number
By oty & EdTedole

124711,

Options :

w15

16

2. ¥

3% 17

Question Number : 40 Question Id : 8119673207 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving ANVSREAY
Sequence and series WEMIVAOOWE Y
Missing Number i) oay/ S

Note: The following question follows a defimte pattern. Observe the same and fill in the
blank with suitable answer

SV A 'QDJrf} ©3) WS &Daé@é NPT FEON0B. &9 NPT Havow)
28800 NFER0eS” P9 A Ploudobs.

Find the Missing Number
By oy & EFdel

10,22.46,94.190,

Options :

Question Number : 41 Question Id : 8119673208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving ARVIEA
Sequence and series SNV OWE VY
Missing Number SRV VRV AV

Note: The followmg question follows a defimite pattern. Observe the same and fill n the
blank with suitable answer

SV AT ’Qar)z'\‘J 07) w5 @Dﬁ@é NPT FERNB. &8 AT Do)
288000 NSPERoeS” 379 R sPOoudote.

Find the Missing Number
By oy &) EdTdebs

155, 151, 144,132, 113,

Options:
1. % 89

2. % 71

. v 85

4% 5

Question Number : 42 Question Id : 8119673209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AWIRAN
Sequence and series @SSP 20000 g
Missing Number SENMEVE T aRd)

Note: The following question follows a definite pattern. Observe the same and fill i the
blank with surtable answer

APR: Sodd Qf)')é 08) WS &JDL)@@KJ NPT FERB. & PP Hedod)

28200 NSFTRotS” a9 &) 3P Oovdo.

Find the Missing Number
By oy & SdiFdols

31,29,24 22, 17

Options :

.

v 15

, = 14

Lx 12

Question Number : 43 Question Id : 8119673210 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving ey PGS

Coding and decoding §¢0h SBao &8 Goh AR

Note: The following question use a different coding pattern. Identify the pattern and
answer the question.

S S 35 0% F0G00 €0 Sar ADGTFORD. & SPTR (0000, D
QeSS0 iSgole.

If n a certain code language, * HELPER * 1s coded as * REPLEH *, then the code for *
SATURN ‘15

w8 $G S HELPER ¢ o  REPLEH ‘ rr §G o), SATURN “ $§°G
Options :

. ASUTNR
, « NRTUAS
. « NRUTSA

NRUTAS
4.

Question Number : 44 Question Id : 8119673211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving Qeld0g LS

Coding and decoding §¢of 605 GEEoh DR

Note: The following question use a different coding pattern. Identify the pattern and
answer the question.

S5 $o9 323 908 0 §8oh ST GG, & SHFTD 00, D
QuSrEEedo Gidgobs.

[f in a certain code language * RIGHT * 15 coded as * THGIR *, how would ¢ OCTOBER * be
coded?
WS §G S ¢ RIGHT “ o ¢ THGIR “ 17 §6 &, < OCTOBER * e §6 atiotoodd ?

Options :

. « REOBTCO

, « REBOCTO

. » REBOTOC

, » REBOTCO

Question Number : 45 Question Id : 8119673212 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Problem Solving AVIGAY

Coding and decoding §Cof 00kn GG R0

Note: The following question use a different coding pattern. Identify the pattern and
answer the question.

S 505 05 D08 TG00 &Gl S ADCIFPE. & ST 0, B
R0 ) Jobe.

If X= 48 and RUN = 106, then what will be CAT

X=48 5008 RUN=106 sond CAT 2ab )00
Options :
48

1.4

, % 24

Is Section Default? : null

Question Id : 8119673213 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)



Problem Solving Qg P

Coding and decoding §diof) 506080 GE AR Hafen

Note: The following question use a different coding pattern. Identify the pattern and
answer the questions from 46 to 48.

APS: Sold B W) 080 30 N §Gof) SaliP D) GICIFNT. & SaiPae) (080w, 46
S0 48 58 0% DulPerao 35406,

Sub questions

Question Number : 46 Question Id : 8119673214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

APPLE is coded as 50. then ORANGE is coded as

§& eres” APPLE &0 50 & §& &2 ORANGE §& 9o

Options:

1. % 50
> #% 80
3 % 70

4 v 60

Question Number : 47 Question Id : 8119673215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If CAR 18 22, SCOOTER =?

CAR 22 ©oned, SCOOTER =?

Options :



b
tad

11

Question Number : 48 Question Id : 8119673216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Certain Language 'VIZAG' =6, 'KURNOOL'= 12, 'ONGOLE' =9, then 'HYDERABAD'

o ¢ 'VIZAG' =6, KURNOOL'= 12, 'ONGOLE' = 9, won@ HYDERABAD' =
Options :

1« 18

, % 16

3.% 9
4 % 14

Is Section Default? : null

Question Id : 8119673217 Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)

Problem Solving RS

Sequence and series R0ZrR0 HO0L Feen
Analogies FUFRgS

Note:

In each of the following question (from 49 to 51), a sequence of numbers or letters
that follow a definite pattern is given. Each question has a blank space. This has to be
filled with the correct answer from the given four options to complete the sequence
without breaking pattern.

APuS: Sl gy 98 ) (49 hols 51) S 32 Doaged TP OETPL R &8 Sebaaddod
Q0P Feinae) 00, 98 3 2 8RO By T BP0 ol V0GR 2P
o) 870 8% A0KST8 aotfo Sori¥owe QPOoiols

Sub questions

Question Number : 49 Question Id : 8119673218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

584 : EHD :: 695 :

Options :

. v FIE

2. » GIP

. « FID

4 « GIE



Question Number : 50 Question Id : 8119673219 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

3784 : 1892 :: : 2874

Options :

| % 5648

Question Number : 51 Question Id : 8119673220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

23:57:: 1113

Options :

v 1719
1516

3 A57



4 1917

Is Section Default? : null

Question Id : 8119673221 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

Date, Time and Arrangements
@4, 0ab0lo HO0K 08 e

Note: The following questions from 52 to 55 are related to Date, Time and Arrangements
problems.

AP uSRS: Soth By 52 ol 55 050 ) 86, Kbl hE0K B0 g

TATARIN)

Sub questions

Question Number : 52 Question Id : 8119673222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If today 1s Tuesday, what day of the week 1t was 124 days before?

& 8 $o8e PS50 | 124 BS500 S0l e &' o) T ©0g0l ?

Options :
_ Sunday -&5&ar00
1. #®

_ Friday -48°00
2. % =

Saturday -40ar00
3. %



« Thursday -to&oardo

Question Number : 53 Question Id : 8119673223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At what angle the hands of a clock are inclmed when the time 1s 20 minutes past 47

28 G000 € 500500 4 (100 20 Asinsdeinen @on) ) Tot SO g §'to o !

Options :

Question Number : 54 Question Id : 8119673224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A 15 the brother of the son of B's son , how 15 A related to B? (
B ciwg) K006 gy, Sudrdocoth A FA%E 0ond A B 8 Dotaolio ol ?

Options :

| % Son ~ 5035700

Grand son — s30a5a5¢

2. %



I‘{.

Brother — ¢80

4% Grand daughter — soddTrew

Question Number : 55 Question Id : 8119673225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Six fiiends A, B, C, D, E and F are sitting around a round table facing the centre of the table.

E 15 to the left of D, C 15 between A and B, and F 15 between E and A. Who 15 on the left of

B?
b e A, B, C, D, E, F 0 a8 Sy@rsd aag) o Soledd) e Srdyory 0. D 8

WP E, A oot B o $g& C, E oy A © s T Sxtoyae &. B & IVERVSIVN O
EVIAaTeVl
Options:

F

1. %

4.«'/D

Is Section Default? : null

Question Id : 8119673226 Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

Problem Solving  aR P
Data Analysis (0% DI
Table or Graph :3%}5 O T2

Note for questions 56 to 60
23) 0 56 10 60 0% el

The table given below shows the production of five different modles of cars of a company
during the years 2018-2023, study the table carefully and answer questions 56 to 60
8 010 2018-23 Do \Bofer Sl S i 8580 S0 8 Dogpgosdy &s Sodd I

35200 W &I 0800w ) 0 56 10 60 UK AT,

Mode — A B C D E Total
Year |

2018 8000 12000 20000 5000 26000 71000
2019 16000 14000 15000 6000 24000 75000
2020 15000 16000 12000 8000 22000 73000
2021 16000 12000 14000 15000 25000 82000
2022 18000 14000 16000 14000 20000 80000
2023 8000 16000 8000 22000 28000 82000

Sub questions

Question Number : 56 Question Id : 8119673227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which year the total number of cars of types A and B together was equal to that of types D

and E together?
N Doss\o & A, B S0 50 oo, D h00k0 E 5 g duieedefn ?

Options :

.« 2018



Question Number : 57 Question Id : 8119673228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The increase percentage of total production of all modes n 2023 to that of 2018 is

o), 050 0 o 2018 ef ﬁ@a@ 2023 & Bt o

Options :

Question Number : 58 Question Id : 8119673229 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In which year the production of all types of cars taken together was nearest to the average of
total production during 2018-2023”
o) Dosiy0o8’ @) S50 G &9)8 o 20182023 esSyorOS i) $Y 45188

Q%) oo 7
Options :

| % 2020

, % 2022

. » 2019

, « 2018

Question Number : 59 Question Id : 8119673230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The production of which type of cars was 25 % of the total production of all types m 20227

2022 ¢ 669)3 0w’ 07 650 36 Howg 25 % o) 8 56 4918 43107

Options:

| x A

2. v E



Question Number : 60 Question Id : 8119673231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The decrease percentage of type C cars from 2022 to 2023 1s

2022 250R 2023 303 C O%e 50 S Fo

Options :
1 w45

, % 60

3 % 40

LN
=

Is Section Default? : null

Question Id : 8119673232 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)



Problem Solving R +PE
Data Analysis W NN
Tableor Graph 88 & 7o

[n a community of 300 people, 50 members know Hindi(H). English(E) and Telugu(T), 40
members know E and H only. The number of members knowing T and H only 1s equal to the
number of members knowing E and T only. 40 know only Telugu, 40 know only Hindi and 30
know only English. Basing this mformation, answer questions 61-63, assummg that every
person know at least one of the three languages.

300 0o 965 &8 8887 €5, 50 a8 3P0 (HD), 00 (E) sobosod @enthy (T) Bewniy
40 5008 P E ooy HBuunh, T So8atw H e SO0 370 oty F 000y T
S35 SO a0 Bomg oSy, 40 508 S8 Bor, 40 5008 7D dmobd o0y
30 50008 S5 @0l Benk, & BP0, WEPGorP S 61-65 MFEEROS (o6 ; &
5o P 8 0,8 08 ShrGolles 6 ¢ %) Bnu @956

Sub questions

Question Number : 61 Question Id : 8119673233 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many know only Telugu and English?

St H005) Roha 5P BOVS °Tod S0l ?

Options :

1. % 40



Question Number : 62 Question Id : 8119673234 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 15 the percentage of people m the community knowing Hindi and English only?

&8 DPerotS ool SO0 ’EDQC% éﬁ@ﬁj DO PO o uJOTfJ ?

Options :

1433

2. % 13

Question Number : 63 Question Id : 8119673235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of members who do not know English 1s

‘QDQ;—.}' OO PO KJGED,S oJoth?

Options:

e 120

2.« 130



125

4 « 140

Question Number : 64 Question Id : 8119673236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of persons who know only one of the three languages 1s

) SIPC) B0 S 88 ) SPBRD BOS 0 Doy

Options:

v 110
L« 120

L 130

140

Question Number : 65 Question Id : 8119673237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The percentage of members not knowing Hindi 1s

&Pl TP *0 Dadg® o

Options :

1. % 42



Is Section Default?: null

Question Number : 66 Question Id : 8119673238 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements

B0, 0o 001 ©HOL NRgEN

The calendar for the year 2007 will be the same for the follwing year:
2007 XJO:S@JU“KJé AT AN ?5@0{,‘36 gﬂ& rﬁoé@h@“ﬂ)g Cb :ﬁoé?ﬁhﬁo SR AVIAR

Options :
. 2014
. 2016

. 2017

4 2018

Question Number : 67 Question Id : 8119673239 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Date, Time and Arrangements
&0, 0650080 00K @050 Dbz

What 1s the angle between hour hand and minute hand at 3 PM
AGONHGo Paloto 2 o oot se) 000K AeNPE e © ooy §'ho odo?

Options :

0
1.#"9{}

, » 120°

270°

3. %

0
4% 0

Question Number : 68 Question Id : 8119673240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements

&0, 00050 SO0 BHOEL Vegen

On which day of the week will India celebrate its 150th Independence Day?

EPOSTHo 63 1503 RSB0y OSSN T6eS o) 2 86 K0t000?

Options:

- Monday - W00

- Wednesday - 2o0darGe



, Thursday - ¢o8oaeCe

4 % Friday — $5°50

Question Number : 69 Question Id : 8119673241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements

&0, Doco HO0KL 5080 Vebiige

Ramu ranks 7th from the top and 28th from bottom 1n the class. How many students are there
m the class? |
S TR CHED o0 s PycS Gy 2, 000K ol s 28500806 iy . & BTSES

o508 wgg’m &Wlfl)?
Options :

1 v 34

Question Number : 70 Question Id : 8119673242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangements
BB, D300%0 HOCIN 8005 DDV

What was the day on 1st January, 1 AD
§£JJ 380 3005¢3 ﬁoﬁ@:}fmfﬁd, 23:3550 20883 o) 527 ©9.5)00H?

Options:

1 % Sunday — @000

, » Monday- ¥5Co
5« Tuesday- Setiefardo

n Wednesday- 20800

Question Number : 71 Question Id : 8119673243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements

&6, Dsh0%0 90050 B:5H050 HedRigen

How many times do the hours and minutes hands of the clock are perpendicular to each other
m a day
8 G o)) 0 (1RG0 oot oot SH00K A0 ot 0o LablorP olHo0?

v}
Options :
24 times — 24

1. %

20 times -20
2. % =



44 times- 44 G

34 times- 34 0
4, % &

Question Number : 72 Question Id : 8119673244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Date, Time and Arrangements

&R, 250050 00K BHOSL NI

At what time between 60 clock and 7’0 clock will the hands of a clock will comcide?
6 ¢t S0k 7' fobie) $idg & 55006 KRS0 :m%o Q?Q)Dda b%ﬁb@“&bi’

Options :

- 6 hours 33 min — 6 Se0® 33 VAP

- 6 hours 23 min — 6 $edd® 23 VP
3 % 0 hours 43 min — 6 oL 43 AP

. 6 hours 53 min — 6 & 53 VP

Question Number : 73 Question Id : 8119673245 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangements
B0, 0500 00D B3OV HeRgen

In how many different ways can the letters of the word BANANA be arranged?
BANANA &3 0000 050708 o)) Sere @818y

Options :

1.v 60

Question Number : 74 Question Id : 8119673246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date, Time and Arrangements

38, D006 SO0 wHdZe eZER

a*b=(a’+b*)ab > 1¥(1*(1*1))=?

Options :

1. % 2.8

2.« 2.9

3. % 3.4



Question Number : 75 Question Id : 8119673247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Date. Time and Arrangements

BB, D00%0 HOCIN WSHOZL DDV

For real numbers a and b, if a*b=(a-b)"*, then (62)*(65)=?

T8 Dotdgen a , b 0% a*b=(a-b)" wowd . (62)*(65)=?

Options :
1. = 8
, % 256
3.9 81
4. % 10

Communication Ability
Section Id : 81196747
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Is Section Default? : null

Question Number : 76 Question Id : 8119673248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the meaning of the underlined word

There 1s no gainsaying that the country 1s i difficulties

Options :

, Forgiving

. Helping

. Investigating

. Denying

Question Number : 77 Question Id : 8119673249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Choose the correct meaning of the following word

Luxuriant

Options :

| abundant

2 % scanty



5« redundant

4« deviant

Question Number : 78 Question Id : 8119673250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct meaning of the following word

Camoutlage

Options:

1 » Disguise

, « Discovery

5 » Demonstration

4 » Disintegration

Question Number : 79 Question Id : 8119673251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Choose the correct meaning of the following word
Prophylactic

Options :

1 % Around



Septic
2. %

5 » Infectious

4 Preventive

Question Number : 80 Question Id : 8119673252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct meaning of the following word

Belligerent

Options :

Friendly
1. % .
Obedient
2 . w

3 Hostile

4 n Negligent

Question Number : 81 Question Id : 8119673253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct meaning of the following word

Construe
Options :
obscure

1. %

, » Confound

~ Misunderstand
3, %

4 Interpret

Question Number : 82 Question Id : 8119673254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Fill in the blank with suitable word

The science that deals with the structure and posttion of body parts 1 called

Options :

- Physiology

, » Cardiology

Anatomy
3. %

4w Dermatology



Question Number : 83 Question Id : 8119673255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. Fill in the blank with suitable word

The workers felt happy as their salary was

Options:

reduced

1. %

- enhanced

3 % delayed

4 » denied

Question Number : 84 Question Id : 8119673256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blank with suitable word

The melody of a song can infants and animals, alike

Options :

1 % trouble

. enfeeble



enchant
v

. mconvenience

Question Number : 85 Question Id : 8119673257 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

Their appeal was rejected as 1t had no
Options :

- substance

,  distance

comedy

charm
4. %

Question Number : 86 Question Id : 8119673258 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

The rise m prices leads to what is often called



Options :

., detlation
- hyper-flation

3 % depreciation

. .
» mflation

Question Number : 87 Question Id : 8119673259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

He wasted all the money given by his father as he was
Options :

1 % frugal
, % transparent
5 Spendthrift

4% balanced

Question Number : 88 Question Id : 8119673260 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

They became bankrupt as they had more than assets.

Options :

- Wealth

~ Sensibility
2. % -
5 « Shares

Liabilities
-

Question Number : 89 Question Id : 8119673261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

A fool and his money are easily
Options :

- merged

~ collected
2. W

parted
3.¢



4 » attached

Question Number : 90 Question Id : 8119673262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank with suitable word

The director of the company to talk fo a mere temporary
employee.
Options :

| « contradicted

5 condescended

.. withheld
. disapproved

Is Section Default? : null

Question Number : 91 Question Id : 8119673263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

He was astonished his failure.

Options :



with
w5

3 % 1D

4 = while

Question Number : 92 Question Id : 8119673264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

We have been living here ten years

Options:

until

‘| . )
mside

2. %

5 x Since

for

Question Number : 93 Question Id : 8119673265 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Fill in the blank with suitable word
The birds are chirping in the trees, ?

Options:

Y t they

aren’t they

5« doesn’t they

~ didn’t they
4, % :

Question Number : 94 Question Id : 8119673266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

My brother or my sister to the marriage

Options :

~ Is comine
1, % =

5 & are coming

3 % were CDI]]_illg



Have come

Question Number : 95 Question Id : 8119673267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

The message was sent post.

Options :

by

1.9 ¢

, » out

3 % up

over

Question Number : 96 Question Id : 8119673268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

The bus was ready the foot of the temple.

Options:

. upon



5> % with

3. at

Question Number : 97 Question Id : 8119673269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

You are to blame for this.

Options :
|« yourself

, x your

3 % YOurs

4 % you

Question Number : 98 Question Id : 8119673270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

You are not 1ll. ?



Options :
1. ¢ arc you

aren’t vou
2. ® ]

5w Isntit

Were you

Question Number : 99 Question Id : 8119673271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

This locality different minerals.
Options :

| « abides by
- abides with

3. % abounds with

abounds 1n
4, &

Question Number : 100 Question Id : 8119673272 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

He has a fascination Music.

Options:

1 % 1O

for

about

n

Question Number : 101 Question Id : 8119673273 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank with suitable word

The nurse 1s attending the patient.

Options:

1 = for

on

5« with



., from

Question Number : 102 Question Id : 8119673274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blank with suitable word

He knows Telugu Hindi.

Options:
| o as well as

, % and

where as
e

-

4 w for

Question Number : 103 Question Id : 8119673275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

There was a lot of traffic, ?

Options :
|« 1sn’t there

, % were there



3 » Wasn’t there

are there

Question Number : 104 Question Id : 8119673276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Fill in the blank with suitable word
I will see you Friday.
Options:
on

1. %

at

m

during

4. ®

Question Number : 105 Question Id : 8119673277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fill in the blank with suitable word

Surya i1s going away a week 1n September.

Options:



.. about
during
2. %

5w Since

4 for

Is Section Default? : null

Question Number : 106 Question Id : 8119673278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blanks with suitable word

They saw lion 1n Z00.

Options :

a, an

1. #

an. the
2. ®

3 v Q. the

the. the
)

Question Number : 107 Question Id : 8119673279 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Fill in the blank with suitable word

I prefer coffee tea

Options :

1w 10

, % than

5 » about

4 % into

Question Number : 108 Question Id : 8119673280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the antonym for ‘convex’.

Options :

. complex

, « enclave

5 « reflex

4. CONCave



Question Number : 109 Question Id : 8119673281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct form of positive degree for the following sentence from the given
options:

He drives the car faster than anyone else.

Options :

1 « No one drives the car as fast as he does.

, » Someone drives the car as fast as he does.

3 % He drives the car fastest than anyone else.

. Any one may drive the car as fast as he does.

Question Number : 110 Question Id : 8119673282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct form of indirect speech for the following sentence from the given
options

And then I thought, “Well, does he really mean it?”

Options:

, » 1think he really means it.



I thought he really means it.

He reallv means what he said.
3, % :

4 And then I wondered whether he really meant 1t.

Question Number : 111 Question Id : 8119673283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Document that has a list of items to be discussed at a meeting is called.

Options :

| » Minutes

, » Business letter

; » Research report

4 « Agenda

Question Number : 112 Question Id : 8119673284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following produces the best quality graphics reproduction?
Options:

1.



. Laser printer

_ Inkjet printer

3 ¢ Plotter

Dot matrix printer
4. %

Question Number : 113 Question Id : 8119673285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The design that helps hackers 1s called

Options :
, « hard disc

, » megabyte

trojan horse

3. %

4 % cowboy

Question Number : 114 Question Id : 8119673286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A symbol indicating retrieval of data 1s a/an

Options :

|« shift register

, % €xpansion code
5 » networking protocol

4V hour glass

Question Number : 115 Question Id : 8119673287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Planning teams simulate the role of information technology in various hypothetical
bustness situation 15 known

Options :

- Change management

, » Enduser mvolvement

;5 « Planning for competitive advantage

4w Scenario approach



Question Number : 116 Question Id : 8119673288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What 1s Bounce Rate in Business?
Options :

. Price rise

1. %

5 % Slump

3 ¥ Frequent visiting of a website

4w Prices falling beyond expectations

Question Number : 117 Question Id : 8119673289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Fair Trade means

Options :

- Good business

, % A big market

- Cosmetic Operation

A A business agreement for developing nations



Question Number : 118 Question Id : 8119673290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Grapevine 1s a term used for

Options :

- Formal communication

5 @ Informal communication

5 » Complamt procedure

4% Meeting procedure

Question Number : 119 Question Id : 8119673291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The dividend 1s paid on

Options :

- Company debentures
- Company bonds

Company shares



4 » Company deposits

Question Number : 120 Question Id : 8119673292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Full form of Wi-f1 1s

Options :

| « Wireless fidelity

- Wireless access

- Wireless finding

4 % Wireless Finesse

Question Number : 121 Question Id : 8119673293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Demonization refers to

Options :

| » Actof tripping a current unit of 1ts status or legal tender

, » Banning of all coins



5 » Banning of all currency notes

. Borrowing currency from other countries

Question Number : 122 Question Id : 8119673294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who is the Chief Executive Officer of Nit1 Ayog?

Options :

| «» B.-V.R Subrahmanyam

5 % Parameswaran Iver

5 » Narendra Mod:

4 % Nirmala Sitharaman

Question Number : 123 Question Id : 8119673295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Crypto currency refers to

Options :

1 « The altemative form of payment created using encryption algorithm



- Physical coins used by customer for payment

. Risk free mvestment
3, ¥

4% European Currency

Question Number : 124 Question Id : 8119673296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the full form of NPCI?

Options:

. National Productivity Council of India

, » National Payments Corporation of India
5 » National Payments Company Initiative

4 » National Promotion Commission of India

Question Number : 125 Question Id : 8119673297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1 the storage that refers to the remote storage factlity available anywhere on the

mternet?



Options :

. » Hard disc

, » Offlme

- Clond

4 « Modem

Is Section Default?: null

Question Id : 8119673298 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (126 to 130)



Read the following passage and answer the questions (126 to 130) given below

The function of education s to prepare young people to understand the whole process of life.
The end of education is not merely to pass some examinations and get a job and earn one’s
livelthood. If education is to make people understand life, then surely life is not merely a job
or an occupation - life 1s something extraordinarily wide and profound, a great mystery, a
vast realm in which we function as human beings. If we prepare ourselves only to earn a
livelthood, we shall miss the whole point of life. To understand, life is much more important
than to get a degree or pass an examination for a job. Life, with all its subtlefies, 15 such a
vast expanse. It has its extraordinary beauty, its sorrows and joys. It also has its hidden
things of the mind, such as envies, ambitions, passions, fears, fulfilments, and anxieties. The
birds, the flowers, the flourishing trees, the heavens, the stars, the rivers, and the fishes
therein all this is life. When we are young, we must seek and find out what life is all about.
Thus, we cultivate mtelligence with the help of education. Intelligence is the capacity to
think freely, without fear and without a formula, so that we begin to discover for ourselves
what 15 real and what is true. Anyone who is gripped with fear will never be itelligent.
Most of us have fear in one form or another, Where there is fear there is not intelligence.
Thus, what education should do is help us understand the need of freedom. Unless we are
free, we will not understand the need of freedom. Unless we are free, we will not understand
the whole process of [iving. When we are free we have no fear. We do not mutate, but we
discover.

Sub questions

Question Number : 126 Question Id : 8119673299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘What 1s the effect of fear on humans?

Options:

. » Weunderstand life’s great mystery

L v We are not able to develop our mtelligence.

We think freely

3. %



. We see the vast expanse of life

Question Number : 127 Question Id : 8119673300 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The aim of education 1s to make us realize the need of

Options :
understanding science

5 freedom

. Jobs
3. % -

. passing examinations

Question Number : 128 Question Id : 8119673301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When we are young. we should

Options :

- seek the meaning of life

- study and get a degree



., try for a good job

4 » Study science

Question Number : 129 Question Id : 8119673302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Education helps us realize the

Options :

| » way to develop out career

, « need for good health
- meaning of fear

4 « hecessity of freedom

Question Number : 130 Question Id : 8119673303 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The passage 1s about:

Options :

| « Education

, » Freedom



5 « ntelligence

4 % Livelihood

Is Section Default? : null

Question Id : 8119673304 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (131 to 135)

Read the following passage and answer the Question (131 to 135) given below:

Science, by itself cannot supply us with ethic. It can show us how to achieve a given end. and
1t may show us that some ends cannot be achieved. But among ends that can be achieved our
choice must be decided by other than purely scientific considerations. If a man were to say, “
hate the human race, and I think it would be a good thing if it were exterminated,” we could
say, “Well, my dear sir, let us begin the process with you”. But this is hardly argument, and
no amount of science could prove such a man mistaken.

But all who are not lunatics are agreed about certain things: That it is better to be alive than
dead, better to be adequately fed than starved, better to be fiee than a slave. Many people
desire those things only for themselves and their friends; they are quite content that their
enemies should suffer. These people can be refuted by science: Mankind has become so
much one family that we cannot insure own prosperity except by insuring that of everyone
else. If you wish to be happy to yourself you must resign yourself to seeing other also happy.
Whether science can continue, and whether, while it continues, it can do more good than
harm, depends upon the capacity of mankind to learn the simple lesson. Sentiments, when
widespread, determine the policies and decisions of nations. Science can, if rulers so desire
create sentiments which will avert disaster and facilitate cooperation. At present there are
powerful rulers who have such wish. But the possibility exists, and science can be just as
potent for good as per evil. It is not science, however, which will determine how science 1s
used.

Sub questions

Question Number : 131 Question Id : 8119673305 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Powerful rulers who are sentimental decide the policies of the nations:

Options :

v When science does not influence them

. When science does influence them

» When rulers are educated

When rulers are uneducated
4, %

Question Number : 132 Question Id : 8119673306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a man were to say “T hate the human race, and I think 1t would be a good thing 1f 1t were
extermmnated,” we could say, “Well, my dear sir, let us begin the process with you”. What
does the statement mean”

Options:

1w Ifaman hates mankmd and wants destruction of mankind, he keeps himself safe.

If a man hates mankind and wants destruction of mankind, he must be destroyed

5 o first.



If a man hates mankind and wants destruction of mankind. mankind gets

destructed.

) w If a man hates mankind and wants destruction of mankind, mankind gets destroyed

Question Number : 133 Question Id : 8119673307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

To do good or harm depends on

Options :

1 = science 1fself

, « the technical knowledge.

5 % Wealth of man

4« the wisdom of the mankind.

Question Number : 134 Question Id : 8119673308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

We cannot insure our own prosperity except by

Options :

1 «» looking after ourselves



« not bothering about others

5  thinking of the safety of others

4 # destroying our enemies

Question Number : 135 Question Id : 8119673309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Science can achieve many ends; but 1t cannot solve
Options:

| « humerical problems

, « geographical problems

5 ethical problems

4« Space problems

Is Section Default? : null

Question Id : 8119673310 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (136 to 140)



Read the following Passage and answer the questions given below: (136-140)

A moment later Nadia and Huda said that before we had lunch. there was somebody
waiting for me n the kitchen. Would I like to see him? A small, wiry man in the dark robe
and turban of a formally dressed Upper Egyptian peasant came into the room. When told by
the two women that this was the Edward he had patiently been waiting to see, he drew back,
shaking his head. “No. Edward was tall, and he wore glasses. This isn't Edward.” I had
quickly recognized Ahmad Hamed, our suragt (butler) for almost three decades, an ironic,
fanatically honest and loyal man whom we had all considered a member of the family. I then
tried to persuade him that it was indeed me. changed Dby illness and age, after thirty-eight
years of absence. Suddenly we fell ito each other’s arms, sobbing with the tears of happy
reunion and a mourned, irrecoverable time. He talked about how he had carried me on his
shoulders, how we had chatted in the kitchen. how the family celebrated Christmas and New
Year, and so on. I was astounded that Ahmad minutely remembered not only the seven of
us—parents and five children—but also each of my aunts, uncles, and cousins, and my
erandmother, in addition to a few family friends. And then, as the past poured out of him, an
old man retired to the distant town of Edfu near Aswan, I knew again how fragile, precious,
and fleeting were the lustory and circumstances not only gone forever, but basically
unrecalled and unrecorded except as occasional reminiscence or infermittent conversation.

Sub questions

Question Number : 136 Question Id : 8119673311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What was the first impression of the author about the visitor?

Options :
1 = Office clerk
, » Egyptian peasant

5 = Factory worker

4 » Journalist



Question Number : 137 Question Id : 8119673312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘What was the name of the visitor?

Options :

| « Edward
> » Huda

3 « Ahmad

4 «» Nadia

Question Number : 138 Question Id : 8119673313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How did the speaker and Ahmad respond once they recognized each other?

Options :

. » The speaker mamtamed dignified silence

v They fell into each other’s arms and sobbed

5 » Ahmad greeted the speaker in broken words



They looked at each other and smiled

Question Number : 139 Question Id : 8119673314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s ‘Edfu’ in the passage?

Options :

| « Kitchen

, Restaurant

Town
w

City

Question Number : 140 Question Id : 8119673315 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the theme of the passage?

Options :

- Meeting of high class and low class

- Remuiniscence of love i the past



5« Meeting of total strangers

4, « Remembering hard times

Is Section Default? : null

Question Id : 8119673316 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)
Read the following Passage and answer the questions given below: (141-145)

India's business environment is a dynamic landscape shaped by a myriad of factors. With a
population exceeding 1.3 billion and a burgeoning middle class, the country presents a vast
market ripe with opportunities for both domestic and international enterprises. However,
navigating this complex terrain requires a keen understanding of various elements, including
regulatory frameworks, cultural nuances, and infrastructural challenges. India's regulatory
environment, while gradually evolving to foster ease of doing business, still presents hurdles
such as bureaucratic red tape and complex taxation systems. The implementation of Goods
and Services Tax (GST) in 2017 aimed to streamline taxation, Vet its complexities persist.
Furthermore, cultural diversity actoss India's states adds layers of complexity. requiring
businesses to adapt their strategies accordingly. Despite these challenges, India's business
landscape is marked by innovation and resilience. The country has emerged as a global hub
for technology and entrepreneurship. with cities like Bangalore eamning the moniker of
‘Silicon Valley of India'. Additionally, mitiatives such as Make m India' and Digital India
seek to boost manufacturing and digital infrastructure, further fueling economic growth,
However, infrastructural bottlenecks, including inadequate transportation networks and
power shortages, remain significant hurdles. Moreover, the COVID-19 pandemic has
underscored the importance of adaptability and digital transformation m sustaming
businesses. As India continues its path of economic development, fostering a conducive
business environment will be cructal in unlocking its full potential. Collaboration between the
government, private sector, and civil society will be essential in addressing challenges and
capitalizing on opportunities, paving the way for sustainable growth and prosperity in the
Indian business landscape.

Sub questions



Question Number : 141 Question Id : 8119673317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

‘What 1s a key characteristic of India's business environment?

Options :

- Stable market conditions
, » Homogeneous regulatory frameworks
, Complex cultural diversity

. Low population density

Question Number : 142 Question Id : 8119673318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

‘Which mitiative aimed to simplify taxation in India?
Options :

- Make in India

, « Digital India

_— Goods and Services Tax (GST)

4 = Startup India



Question Number : 143 Question Id : 8119673319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which Indian city 1s often referred to as the 'Silicon Valley of India'?

Options :

, » New Delln

, % Mumbai

, » Hyderabad

4, » Bangalore

Question Number : 144 Question Id : 8119673320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What challenges do businesses face due to India's cultural diversity?

Options :

- Uniform adaptation strategies

» Language barriers

5 % Simplified regulatory processes

4 » Limited market potential



Question Number : 145 Question Id : 8119673321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What mitiative aims to boost manufacturing in India?

Options :

1« Make in India
, » Digital India
- Start-up India

.« Skill India
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Question Number : 146 Question Id : 8119673322 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arithmetical Ability - e9085e3¢ ﬂ“mgéc

1728 x
3.6x0.2

If — 200. then the value of x1s

17.28-+x

= 200, @900 X o)CNd
3.6x0.2

Options :

o 012

, % 025

5 x 033

L% 0.5

Question Number : 147 Question Id : 8119673323 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908ie3 .3“&‘33{350

If V15 = 3.88 then \E -

V15 = 3.88 @00 ﬁz

Options :



1.% 0.43

, « 1.89

1.29

. 1.63

Question Number : 148 Question Id : 8119673324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arithmetical Ability - e90&$e3¢ .3";‘.1)%0

If Vx2x 152 =52 % 32 then x=

Vx2 x 152 =52 x 32 _ @90 x=

Options :

12

1. %



Question Number : 149 Question Id : 8119673325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e90&¢e3¢h .3“.;‘.13%50

1
If x =——and y = — then
a—1 a—1

x === SHBAN y =— 000D

a a—1

Options :
e X7

- x=yxifa< 1

X = yifasl

3. ¢

iy i A |

Question Number : 150 Question Id : 8119673326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90%5e3ch El“iugéo

The largest number of 5 digits, which 1s a perfect square 1s
2000 @908 P Je5a0D DOIY PO O?

Options:



.« 99999

. 99764

L« 99976

4 » 99856

Question Number : 151 Question Id : 8119673327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arithmetical Ability - e90&§e3 .i‘l“:ngéo

L.C.M. of 22,54 108,135 and 198 1s

22.54,108,135 DB 198 & &, . .

4 = 11880



Question Number : 152 Question Id : 8119673328 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Arithmetical Ability - e908¢e3¢h Eymgéo
35T 9,
S A Y
2 470 8§ 10
L35 F 9
= L Tl o @0, R B
346 % 10
Options:
1
w2
> x 10
120
3. %
RS
L 120

Question Number : 153 Question Id : 8119673329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908(e3cs 3“&3350

The least perfect square number which 15 divisible by 21.36 and 66 15
21,36 005 66 © & 2rA0RT 098 1) N0 S os
Options :

| v 213444

, « 214344
L 214434

4« 231444

Question Number : 154 Question Id : 8119673330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arithmetical Ability - e908(ides 3“#1)%50

Which number should be there i place of “*' so that 5932*48 1s divistble by §?
5032448 3095 8 & QAT 2PA0NRGERE * WS GOGHON
908 o)?

Options :

1.$37r



Question Number : 155 Question Id : 8119673331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e9085ed¢h ﬂ“mgéo

92x18%
316

Options :

2
3

O | &

Question Number : 156 Question Id : 8119673332 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Arithmetical Ability - e908¢€3¢d =08 o

@)
@ +y+
If Z=2=2 then 2=
3 7 Z
E_Y_Z eoomy -
3 4 7 z
Options :
o
1. %
2. ¥ -
1
3. % 2
Y :
4. ®

Question Number : 157 Question Id : 8119673333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90S¢ie3ch ﬂ“a‘.ugéo

If 18:x=x:8, then xis

18:x=x:8, ®OND x=
Options :

144

1. %



Question Number : 158 Question Id : 8119673334 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90&tic3eS 3“&3350

What must be added to each term of the ratio 7:13 so that the ratio becomes 2:3 ?
713 S 6) 025 Jos B D98 T g 23
9 DaD?

Options:

1.4 S

-2



Question Number : 159 Question Id : 8119673335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90tic3ed é“mgéo

The two numbers are 1n the ratio 5.7, Their difference 15 10. Then the sum of numbers 15
B0 0RO A 57 LB & oo T 10, dand ¢
BN

Options :
82

60

2w 89

4. % 88

Question Number : 160 Question Id : 8119673336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90Stie3es #mgéo

The speeds of three cars are mn the ratio 2:3:4. The ratio between the time taken by them to

travel the same distance 15

S 0 Mo 234 VS sotnod. T 2F &rdo
OSPEHOLIETRE T) DATTe) S Aen)



Options :

1 0:4:3

L 12:15:10

Question Number : 161 Question Id : 8119673337 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - e908(ides 3":\3260

If the digits of a given two-digit number are reversed, the number 1s equal fo 9 less than 3

times the origmal mumber. If the difference between these two mumbers 1s 43, find the

original number ?
F0)N DOR-©9050 o3 g} @o3en Bdiads, 8 Jows @eY
D025 S0 9 5807.) 3048 0. & BO OV NG 5TN0 45

0N, BN MOD; SF0d ?

Options:

1 @27

2. % 45



Question Number : 162 Question Id : 8119673338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e90Z¢iedeh .5“&‘.}3%0

If x x15=37.5%o0f 220 . then x 1s

x x15=37.5%0f 220, €900 x )N

Options :

L n 825

Question Number : 163 Question Id : 8119673339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908iede .Elf’mgéo

X2 of Y + Y% of X =

Options :

.« X% of Y

2% of XY

2. ¥~

Question Number : 164 Question Id : 8119673340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 08ric3es #mgéo

Subtracting 6% of x 1s equivalent to multiplying x by how much.
J y, YR Ly LS. Y, v
£ eSO 6% Nenaied SHo H3) AN x D Jodd Hedorihod

N0,
Options:

0.94

1. %

L« 9.4



0.094
E

4% 94

Question Number : 165 Question Id : 8119673341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - 08e 3%“.13%50

If A’s salary 1s 30% less than that of B. Then how much percentage 15 B's salary more than

that of A 7
2,855 A 2650 B $0T) 30% 50T ) 00, 93310 A $0%) B 2ebo
N0 FA0 )30)0) ?

Options :

6
42=%
7

42.5%



Question Number : 166 Question Id : 8119673342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - e908(iedes 3“10%50

By selling 36 mangoes, a vendor loss the selling price of 4 mangoes. His loss per cent 1
36 STING D0 @0 @5or a8 DB 4 SA 00 ©0E

K668 §S Y ih. 95 SaFedo

Options :

Question Number : 167 Question Id : 8119673343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @osriched 3“&)%50

e AL ias . LR . L
Subahsh purchased T.V. at " of 1ts sellmg price and sold 1t at 8% more than its original

selling price. Then what 1s his gam percent ?
0 0 glh 0
Q2% S T @iy IS’ 5 ok $ 69, o3 sy O

$0%) 8% 0)5000 OGS SON0TIY e eFeTEH0 2)0es?
Options :

18%

10%

Question Number : 168 Question Id : 8119673344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ablity - - e9o8fes ﬂ“théo

P, Q. and R entered mto a partnership, and their capitals are m the proportion of

2 ] —

| 1
Z:j. P 15 withdrawing half of hus capital at the end of 4 months. Out of a total
)

s

w

annual profit of Rs. 847, P’s share 1s

P, Q B0 R e l % NS 2EDOS 28 TGS

!
4
Feo o, 4 SO0 ST P S PAS Serm) 388,

BT, SO 725 847 Err oo P ey Noe?

Options :

Rs. 252

1. %

, » Rs. 280

Rs. 315

, « Rs.412

Question Number : 169 Question Id : 8119673345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @0%tic3cs 3“:13%50

‘A’ can finish a work m 8 days. ‘B’ 15 60% more efficient than ‘A’ Then how many days

will ‘B’ take to complete the same work?

A 28 a0 8 Bood 550 Tobiod. B, A Sob 60%
TG0 & NN TAWR. VI OF SN B ) T 50
Rohied?

Options :

6

Question Number : 170 Question Id : 8119673346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - sogieded 3“33)350

A and B entered mto a partnership. A mvests Rs. 16000 for § months and B remams in the

) , ' ;o :
bustmess for 4 months only. Out of a total profit, B claims - of the profit, then B's

contribution 15

A 5005 B 27506 § (33330, A, 8 SO0 Er. 16000 Deyad
AT HOAM B, 4 TOOFED JFSD TS ERRPTE. Feho

th
2508, & S0 ergrR) B ochrr onde, B R doe?
Options :

1. v Rs. 2.56,000

, « Rs. 10,500

. » Rs. 13,600

.« Rs. 11,900

Question Number : 171 Question Id : 8119673347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - e908ieded 3“5)0%50
A pump can fill a tank with water m 16 mimutes and another can empty it i § mimnutes.

If the tank 15 already half full and both the taps are opened together, the tank will be
28 SR 28 203 16 Aared ool HFS 8 Adrod grd

DobiOR. @SS a0 Aok B8 & Tod H0YOS 2.3-r0
350 &1
Options :

filled in 12 minutes

V. AT DO

filled in 8 minutes

.8 QTS DO

2.

emptied in 12 minutes

s« 12 QDTS 2579 9Dk

emptied in § minutes

v 8 AMTOS 2L H D

Question Number : 172 Question Id : 8119673348 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @ogtiches 5“#)3%50

If two pipes function simultaneously, the reservorr wll be filled m 12 hours. One pipe
fills the reservorr 10 hours faster than the other. How many hours does the faster pipe

take to fill the reservour?

B0 ey oo SAFR 12 ot zericho Aodhsod. 28
2y 08 ) B 10 fowen For zerdoirl) AoR0d.
0230° 000 A0AENE 0B DayS) ), Hotren ce0e?

Options :
. 35 hours
28 hours

25 hours

30 hours

Question Number : 173 Question Id : 8119673349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - o8l 3“1}3%0

A 150-meter-long tram takes 6 seconds to cross a man walking at 6 km/h m the

direction opposite to that of the tram. What 1s the speed of the tram m km/h ?

150 e sy o Ben oo 6 wed Fod Seé oI
HOTEHBND) 28 H§ A 6 LIS renchod. & Ben Fo o
.08

Options :

1 % 60
2.v 84

3 % 106

4% 96

Question Number : 174 Question Id : 8119673350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - 90l 3“:)3%50

‘A’ 15 twice as good a workman as B and together they fiush a piece of work m 14

days. In how many days ‘A’ alone can finish the work?

A @3 538 B §o® D605y 0D HATAMOR B0 T % af
A0 14 820 50 T N {3 ) Bros 8 59 FO
Bobied ?

Options :

- 11 days
5 21 days

3 .
3 % 28 days

4 x P2 days
Question Number : 175 Question Id : 8119673351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - 9083 &mgﬁo

If 5 men or 9 women can finish a piece of work m 19 days. In how many days, 3 men

and 6 women will do the same work?

5 500 HHe0 B 9 D00 Hrden 28 3 19 HaS G
TOMHORS, 3 D0 20N DO 6 DO aNTFFEN BT NN )
Bod T ?

Options :
10 days

x 10 Oeren

12 days

12 &23ew

13 days

13 &2ren
3. %

15 days

15 2320
4. &

Question Number : 176 Question Id : 8119673352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability - @St b“iugéo

If the diagonal of a square 1s 3.2 cm, then the area of that square is
2,8 IR0 ) §0a 5.2 cm O & IAS|N FTO5eW
Options :

- 13.52 sq.cm.

12.50 sqg.cm

2. %

10.50 sq.cm.
3. %

. 14.40 sq. cm.

Question Number : 177 Question Id : 8119673353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - 9083 &mgﬁo

The total surface area of a cube is 726 m’. What is the volume of the cube?
2.8 035 TGy 0N &0 FTOHM 726 mE . 8 e T
DNOET0 006 ?

Options :

% 1300m’



- 3
5 1331 m
L, 1452m°

, x 1542m°

Question Number : 178 Question Id : 8119673354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability - @9ogtie3S 3“:13%50

A circle and square have same area. The ratio of side of square and the radius of the
circle 1s

28 380, WMGIN0 28 FTeri) $OA Garyon. N0 TN,
25230 00D 90 T arsRrdo TGy )

Options :

1. ¢ ’\/;31

- 1:\7

3 % 71



Question Number : 179 Question Id : 8119673355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - 905 He3ch .3“:1.‘}%50

10115, +1001 ,, =
Options :

1110,

1,

10000,
3. % i

10100,
4. v !

Question Number : 180 Question Id : 8119673356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability - 905 rie3eh &mg}so

It 1002, = x;;q > then x=

1002,,, = X, €OV x =

I 1)

Options:

1 = 370



L« 420

4w 450

Is Section Default? : null

Question Number : 181 Question Id : 8119673357 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 2 te3ed So8asw Gar tiedeh &mg?so

sin1200°=

Options :

1
1.% V3



Question Number : 182 Question Id : 8119673358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Algebraical and Geometrical Ability - D tedeh SyBakw Ga fighed &mgéo

If the angle of elevation of the top of a tower from a pomt 60 meters from 1ts foot 15

30°, then what 1 the height of the tower i meters ?
3208 3780 5% 60 DS 8780 6 565 2.8 Dodsy 906 398 9o
50 60600 30° 000 9980 I DO &' D0e?

Options :

6043

20

60

Question Number : 183 Question Id : 8119673359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraical and Geometrical Ability - 22 feded 80t Gar Heded &oﬁ)géo

If x* + 10 x% + ax + b is exactly divisible by x — 1 as well as x + 2, then (a,b) =
x—1 O3, 142 S® 3 +10x2 +ax+b POSOT 2rRoNAEFOOD)
(a,b)=

Options :

. (6,18)
., (7,-18)
5« (7,18)

4. % (_?J 18)

Question Number : 184 Question Id : 8119673360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 2 ieded 0803w Bar Heded &mg{)o

The fourth term in the binomial expansion of (x — 2)° is
(x—2)5 T, OIND DHOLEE0 S TS Do
Options :
» —160x°

1

—80x3
2. %



L 160x°

4« 80%°

Question Number : 185 Question Id : 8119673361 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 2 g3 S08atn S Keded avm%c.

2 2 1
If Aisthe matrix |1 2 2.the11|A3|=
2 1 2
2 2 X
ArgsA=[1 2 2| o, |4} =
2 % 2
Options:
1w 27
2. % 29
3. % 04
125
4,

Question Number : 186 Question Id : 8119673362 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Algebraical and Geometrical Ability - Da Heded 08050 Gare Keded a“aﬁogéo
1-cosf

limg_, T

Options :

2

1. %

N
#
= |

Question Number : 187 Question Id : 8119673363 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Algebraical and Geometrical Ability - D2 (e 0803w Bar Hede 3"‘559250

7. dy
y= .]('251[1..3['2 e
dx

Options :

x% cosx? + 2x sinx?



5 @ 2x sinx? 4+ 2x3 cosx?

- 2(sinx? + x3 cosx?)

2x sinx% 4+ 2x cosx?

Question Number : 188 Question Id : 8119673364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraical and Geometrical Ability - 22 deded ook Gaoe ieded 5“6&}%0

What 1s each of the interior angle of a regular octagon?

2,8 1850 @298 'R 2,598 @088 80 J0oeh?

Options :

. 120°
, . 60°

5 o 135°

4 % 100°

Question Number : 189 Question Id : 8119673365 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Algebraical and Geometrical Ability - 2 fitde 8ok Gg rieded ﬂ‘lmgéo

What 15 the third vertex of a triangle whose two vertices are (7,4) and (4,—6) and the
centroid 1s (2,0) ?

28 Qe 0 &), Do AS0eN (7,4), HOOK (4,-6) @Y T

3013 2700 (2,0) ®ONS, TR Srched 3Ta O

Options :

1. % (5—-2)
2 (_5! 2}
3% (7272

e (5:2)

Question Number : 190 Question Id : 8119673366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Algebraical and Geometrical Ability - 2 #edeh o803 Bar Hedeh &mgéo

The equation of the line passing through (2,1) and (1, 2) 15
(2,1) OO (1,2) © & 50" &FOD DB T gy dedEBeasin

Options :



1 X+ty—3=0

wa—y—Bzﬂ

X=¥+3=0

3, %
. X+ty+3=0

Is Section Default? : null

Question Number : 191 Question Id : 8119673367 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Statistical Ability - ffezeod &m%o

The arithmetic mean of 3.4, 4.8, 6.2, 2.6, 4.6, 3.8, and 6.8 15
3.4,4.8,6.2,2.6,4.6,3.8, OO 6.8 AB0E) @0F N5

Options :

5.2

L % 4.4

3. % 4.8

4.6



Question Number : 192 Question Id : 8119673368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - $eaos av.mgéo

What 1s the geometric Mean of 9, 6 and 4 ?
9,6, OO 4 ANEY (DI NAENED DE?

Options :

4. % 18

Question Number : 193 Question Id : 8119673369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - tfea°os avm%a

What 1s the Harmonic Mean of 2, 3,4 and 6 ?
2,3,4, 6 B0E). 07528 AN DO?

Options:

1w 34



2.v 32

4.2

4.5

Question Number : 194 Question Id : 8119673370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Statistical Ability - ¢fe3°0% &m%a
The median 0f 9,8,7,5,7,8,3,6,4 1s
9,8,7,5,7,8,3,6,4 O30S NG §Med30

Options :

1.9 7

> % O

Question Number : 195 Question Id : 8119673371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Statistical Ability - Hea°0s av;ﬁ;géo

The mode 0of 18, 20, 16,17, 22,20,19, 20, 21 1s
18,20,16,17,22,20,19, 20, 21 G308}, 2700 So0)

Options :

1 = 18
2.v 20

3 = 19

21

Question Number : 196 Question Id : 8119673372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Statistical Ability - tfea°os &»mgﬁo

Standard Deviation of five consecutive integers 1s

200D D YTTO5  ANEY; (oD DTIS0D

Options :



Question Number : 197 Question Id : 8119673373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - fezod &m%o

What 1s the mean deviation of 2,3, 2, 1,4 through arithmetic mean?
908 QSN0 T°50° 2,3,2, 1,4 ANE). D5 ATIOIN 2)Oeh?
Options :

2.2

1. %

, » 1.88

.« 0.68

., 0.88

Question Number : 198 Question Id : 8119673374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Statistical Ability - ftwod .3%‘.132150

If A and B are sets such that n(4) =5 and n(B) = 4 and a relation from A mfo B i

selected at random. then the probability that the relation be a function 1s

n(4) =5, n(B) =4 ™ fi©> Dot dadehen A B ©aw, A ok B & 2.8
N0ROGTN), APRYSOTE ed) S0 & 0200 [ ORNIFRS e
NOTANI(L

Options :

3.v

% 2°

Question Number : 199 Question Id : 8119673375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - ffeo8 aumgéo

When three dice are thrown, what 1s the probability of getting the sum 87

o) FEO) DO, FNBO § TN 0TS NOEH?

T/



Options :

i

1
2.« 12

s

4. % T2

Question Number : 200 Question Id : 8119673376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability - itwod .3“5.‘1)250

There are 6 green balls, 5 black balls and 7 white balls in a bag. When a ball is drawn

at random from the bag, what 1s the probabulity that the ball 1 either green or black ?
28800 S 655 20,5 SO 20N, 7 B DOV Q.
& 00 0B OFdNT 28 208 A 8N 8O sHN) T
TP, VYT TP BIFVE 02T 0)0eS?

Options :

11
1.+ 18



13
18

.

.

15
18

17
18



